Manuals+ — User Manuals Simplified.

nVent HOFFMAN PROLINE Swing Frame Instruction Manual

Home » nVent HOFFMAN » nVent HOFFMAN PROLINE Swing Frame Instruction Manual ™

Contents
1 nVent HOFFMAN PROLINE Swing
Frame
2 Product Information
3 Product Usage Instructions
4 OVERVIEW
5 INSTRUCTION
6 PARTS
7 INSTALLATION
8 Documents / Resources
8.1 References
9 Related Posts

\7
nvent

nVent HOFFMAN PROLINE Swing Frame


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/nvent-hoffman
https://manuals.plus/nvent-hoffman/proline-swing-frame-manual.pdf

Product Information

This product is a swing frame with various components and screws. It is designed for mounting purposes.

« Item 1: Giratorio (unknown function)

« Item 2: Quantity: 1 (unknown function
« Item 3: Quantity: 2 (unknown function
« Item 4: Quantity: 1 (unknown function
« Item 5: Quantity: 1 (unknown function
« Item 6: Quantity:
« Item 7: Quantity: 1 (unknown function

unknown function

)
)
)
)
)
)
« Item 8: Quantity: n)
)

(
(
(
(unknown function
(
(
(

I\)_L_LN_L_L

« Item 9: Quantity: 2 (unknown function
« Item 10: Quantity: 1, Type: M10 (unknown function)

« Item 11: Quantity: 2, Type: M6 (unknown function)

« Item 12: Quantity: 1 (unknown function)

« Item 13: Quantity: 2 (unknown function)

« Item 14: Quantity: 8, Type: M5x10 self-tapping screws
« Item 15: Quantity: 1, Type: M6x16 (unknown function)

« Item 16: Quantity: 8, Type: M6 cage nuts

Product Usage Instructions

1. ldentify the desired location for mounting the swing frame.

2. If using the M5x10 self-tapping screws (item 14), align the swing frame and secure it using these screws.

3. If using the M6x16 screws (item 15), insert the M6 cage nuts (item 16) into the designated slots on the swing
frame.

4. Align the swing frame and secure it using the M6x16 screws (item 15) through the cage nuts (item 16).



5. Ensure that all components and screws are tightened securely.

NOTE: Please refer to the product manual for further information and safety precautions.

OVERVIEW
5
E :
§ : :‘\\
; : :
S :
! :
; H
E
H
\\
INSTRUCTION

NOTE: The swing frame can be mounted using the M5x10 self-tapping screws (item 14), or it can be mounted
using the M6x16 screws (item 16) with the M6 cage nuts (item 10).



PARTS

INSTALLATION

(2 (2 (&) (2x)
] 10 ME | 11 12

(&%) (&) (&) (2x)
[E] 14 MSx10 | 15 16 MEx1E

() (8x) () (8x)




© 2018 Hoffman Enclosures Inc. PH 763 422 2211 nVent.com/HOFFMAN P/N 87781589

Documents / Resources

5‘[1 m nVent HOFFMAN PROLINE Swing Frame [pdf] Instruction Manual
P-N 87781589, 87781592, PROLINE, PROLINE Swing Frame, Swing Frame, Frame

References

« -'._We connect and protect | nVent

Manuals+,


http://nvent.com/HOFFMAN
https://manuals.plus/m/934eb82fcbe5013471407eedc64d3745de99c344683ba642f426826b4b800515
https://manuals.plus/m/934eb82fcbe5013471407eedc64d3745de99c344683ba642f426826b4b800515_optim.pdf
http://nvent.com/HOFFMAN
https://manuals.plus/

	nVent HOFFMAN PROLINE Swing Frame Instruction Manual
	nVent HOFFMAN PROLINE Swing Frame
	Product Information
	Product Usage Instructions
	OVERVIEW
	INSTRUCTION
	PARTS
	INSTALLATION
	Documents / Resources
	References



